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Midterm 1 MAS 3105 Linear Algebra

E. Hironaka
October 2, 2014

Student’s Name: ’So\\"‘ 0N

Do all problems on a separate piece of paper. Show your work. Each problem
is worth 8 points.

1. Write down the augmented matrix corresponding to the system of linear
equations and find the value(s) of h so that the system is consistent
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(a) Find the solution set of the nonhomogeneous system A7 = b as
parametrized vectors where
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[‘ A 3. Determine whether the set of vectors is linearly independent, and justify
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4. Let T : R? — R? be the linear transformation satisfying
T(e;) =2e;+ey, and T(ez) =e; — 3ea. ( Q,B
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(a) A nontrivial linear combination of the following vectors that equals

5. Give examples of each of the following.
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6. Answer true or false. Justify your answers. (If the answer is "false”,
Shb 4 pivots= f Ghaams give a counter-example. If the answer is "true” briefly explain why it

is true.)
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and the Grgpadl Iny Viear (a) If the column vectors of a matrix A are linearly independent, then
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(d) If A and B are two 2 x 2 matrices then AB = BA. °F Ax=b s B
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